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Sit with your Revision Twin opposite 2 others at a table.

The purposes of this structure is to find a ‘consensus’ answer to the question – something you can all agree as your best response.

You will get 5 minutes to Round Robin your views to establish a consensus answer, then a further 15 minutes to write you answer on the sheet.

 Then swap and mark with revision twin. When marking give a level, a grade,  a www and an ebi, then give and receive feedback
Question
1. ‘The role of the State should be kept to a minimum in modern society’ 

To what extent do sociological theories and perspectives agree or disagree with this view. (24 marks)
Level 1: Writes about different theories of the State and/or ideologies e.g. Marxism, New right, pluralism, socialism, Thatcherism etc. accurately but does not address the question – just a description of different theory (4-10 marks) Grade U-E 

Level 2: Compares and contrasts different theories of the State and political ideologies making reference to those who might support the statement and those which don’t. Evidence may be incomplete or judgement inconsistent (11-15 marks) D-B

Level 3: As for level 2 but with depth analysis, examples of theorists and clear points of comparison and judgement. (16-20) A-A*

